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Assign the R and S configuration to the following molecule

COOH

Br

-
e

B OTT

CHO

: 2831
2R, 38
.28, 38
2R 3R

|

e T

Options :

68019125901. 1
68019125902. 2
68019125903. 3

68019125904. 4



Question Number : 1 Question Id : 6801916602 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

fFrafafad s H R ok s feam &1 Ay 3¢
COOH

Br

rw
]

B OI1

CHO

.28, 3R
2B, -38
. 25, 35
4. 2R. 3R

Fag b2 —

Options:

68019125901. 1
68019125902. 2
68019125903. 3

68019125904. 4

Question Number : 2 Question Id : 6801916603 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

The correct order of the stability of different conformation of cyclohexane is
(A). chair

(B). boat

(C). twist boat

(D). half chair

(A)> (B) >(C)> (D)
(A)> (O)> (B)> (D)
(A)>D)> (©)> (B
.(D)> (C)> (B)>(A)

I3 =

e g



Options :

68019125905. 1
68019125906. 2
68019125907. 3
68019125908. 4

Question Number : 2 Question Id : 6801916603 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Orsgdieay & f[afys e &t RRaOT 198l HH o
() Tt

(B) A1d

(c) fge -ma

(D) SATel Dl

(A)> (B) >(0)> (D)
(A)> (C)> (B)> (D)
(A)>([D)> (C)> (B)
4.(D)> (C)> (B)>(A)

I =

L]

Options :

68019125905. 1
68019125906. 2
68019125907. 3

68019125908. 4

Question Number : 3 Question Id : 6801916604 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which one is not an electrophile?

NO™
.BF;

CO,

i

NH,~

g -d i—

.



Options :

680191259009. 1
68019125910. 2
68019125911. 3
68019125912. 4

Question Number : 3 Question Id : 6801916604 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
B 1 U SAae-RAT el 87

1.NO™
2. BF,
3. CO,

4. NH,;
Options :
680191259009. 1
68019125910. 2
68019125911. 3

68019125912. 4

Question Number : 4 Question Id : 6801916605 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Iodoform reaction is given by
(A). all methyl ketones with CH;CO group

(B). Acetaldehyde
(C). all secondary alcohols with CH;CH(OH) group

(D). all primary alcohols
Choose the correct answer trom the options given below:

1. (A). (B) and (D) only.
2. (A). (B) and (C) only.
3. (A). (B). (C) and (D).
4. (B). (C) and (D) only.

Options :

68019125913. 1
68019125914. 2
68019125915. 3

68019125916. 4

Question Number : 4 Question Id : 6801916605 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

HGISIBIY SHiYfshal fhed g1 al &l ©
(A). CH;CO 95 & 91y guif furgd SicH

(B) URicfcseigs

(C). CH;CH(OH) ¥9g aral i fgdiae tesplgd
(D) 94t WY Teplgd

- feu e fdsedl & 9§ 9el SR 3 |

1. %ad (A). (B) 3R (D)
2.ad (A). (B) 3R (C)
3. (A). (B). (C) 3R (D)

4. %4d (B), (C) AR (D)

Options :

68019125913. 1
68019125914. 2
68019125915. 3

68019125916. 4



Question Number : 5 Question Id : 6801916606 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Arrange the following compounds A.B.C and D in decreasing order of acidic

strength
(A). OH

{-}2“-\“_“. _.-"IL-\_\. -~ HOE

L

s .§

_{x

Choose the correct answer from the options given below:

1.B=D=C=A
2.A>C>D=B
3. 8= AxD=E
4.B=C=A>D

Options:

68019125917. 1
68019125918. 2
68019125919. 3
68019125920. 4



Question Number : 5 Question Id : 6801916606 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

g 9! A, B, C 9k D &1 3@ gedt aieiia &Fal & #9 § ooafyd S|
(A). OH

2 foy g fowed! 7 @ W@ SR I

1.B=D=C=A
2.A>C=D=B
3.B>A>D>C
4.B=>C=A>D

Options :

68019125917. 1
68019125918. 2
68019125919. 3



68019125920. 4

Question Number : 6 Question Id : 6801916607 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Match List I with List IT

LISTI LISTII

Knoevenagel
condenzation

Al PhyC=NOH P PhCONHPh L

Claisen -

Bl CH;COCH; — P CH;COOCH; I |Schmudt

reaction

) 11 Beckmann
PhCHO ——— P PhCH=CHCOOH |rearrangement

D. PLCHO » PhCH(OH)CH,COCH; s [Paever Villiger

oxidation

Choose the correct answer from the options given below:

1. (A) - (TIT). (B) - (IV). (C) - (1). (D) - (IT)
2. (A) - (IT). (B) - (IT). (C) - (I). (D) - (IV)
3.(A) - (I). (B) - (II). (C) - (IV). (D) - (III)
4. (A) - (TI), (B) - (I). (C) - (I1). (D) - (IV)

Options :

68019125921. 1
68019125922. 2
68019125923.3

68019125924. 4

Question Number : 6 Question Id : 6801916607 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0



Correct Marks : 4 Wrong Marks : 1

-1 R -1 T A B3
a1 &
7 =1 " 5
A Ph,C=NOH P PHCONHPh L W;. T
B CH;COCH; ———J3m» CH;COOCH; IL aﬂ’irmﬁu
e PhCH=CHCOOH |7
PhCHO ———Jp PHCH=CHC e
D PHCHO h PhCH(OH)CH,COCH; v Eﬂi—\r
3 HT
it feu e fosedi 6 9 98t SR |
L. (A) - (D), (B) - (IV). (C) - (I). (D) - (IT)
2. (A) - (I, (B) - (). (C) - (I). (D) - (IV)
3.(A)- (D). (B) - (D). (C) - (IV). (D) - (I1I)
4. (A) - (ITI). (B) - (I). (C) - (I1), (D) - (IV)

Options :

68019125921. 1
68019125922. 2
68019125923. 3

68019125924. 4

Question Number : 7 Question Id : 6801916608 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Arrange the following carbonyl compounds in the decreasing order of their
reactivity towards nucleophilic addition reaction

(A). CH;CHO

(B). HCHO

(C). CI;CCHO

(D). CH;COCH,CHx

Choose the correct answer from the options given below:

1.LA>B>C=D
2.B=A=D=C
.B=C=A>D
4. C=B>A>D

Options :

L]

68019125925. 1
68019125926. 2
68019125927. 3

68019125928. 4

Question Number : 7 Question Id : 6801916608 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

fFafarad Sreii-e gD ol Afterit GareH sitifchar & uid 39!

SffHfhardeDdl & Ued o H ouaiiyd He
(A). CH;CHO

(B). HCHO

(C). Cl3CCHO

(D). CH3;COCH,CH;

-4 feu e fosedl & 9 95l SR A |

A>B>C=D
.B>A>D>C
B=C=A=1)
4. C>B>A>D
Options :

fag bJd =

68019125925. 1
68019125926. 2
68019125927. 3
68019125928. 4



Question Number : 8 Question Id : 6801916609 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Number of distinct NMR signals observed in case of acetone and ethyl methyl
ketone are

1.1 and 3
2.2and 3
3.2and 5
4.1and2

Options:

68019125929. 1
68019125930. 2
68019125931. 3
68019125932. 4

Question Number : 8 Question Id : 6801916609 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
THIeH iR SUed [WUEd ®icH § ojad fafRy T TH 3R dddl & I&T g

fal

fag | =
Uh

2555

| ]

= d bd =

4,
Options :
68019125929. 1
68019125930. 2
68019125931. 3

68019125932. 4

Question Number : 9 Question Id : 6801916610 Question Type : MCQ Option Shuffling : No Is



Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

The structure of the compound having molecular formula CgH;, showing NMR
peaks at 6 7.1, 2.2, 1.5 and 0.9 ppm is

&

HoCH,CH;

CH,
CHy
3.
H

CHy

[

H,CH,
Options :
68019125933. 1
68019125934. 2
68019125935. 3

68019125936. 4



Question Number : 9 Question Id : 6801916610 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
HTUIGD A CH,, aTdt TP P TITHL O § 7.1, 2.2, 1.5 3R 0.9 ppm
TR NMR RreR fGar 3 &, 1 g

iHECHQE%
CH3
CH,
3.
Hy
CH,
4.
iHEGHS

Options :

[ ]

68019125933. 1
68019125934. 2
68019125935. 3

68019125936. 4



Question Number : 10 Question Id : 6801916611 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following vibrational mode shows no IR absorption bands

. symmetric CO, stretch
. antisymmetric CO, stretch
. symmetric O=C=8 stretch

- CH4-C=—=CH stretch

e o I

Options:

68019125937. 1
68019125938. 2
68019125939. 3
68019125940. 4

Question Number : 10 Question Id : 6801916611 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Frafafad ¥ 9 19 91 & OIS @15 IR SaRIy0l Ug -Te) (@l 82

1. gAiHd co, f&ama

2. gfagmftd co, f&=ma
3. 99do=c=¢s &9
4. CHy-C==cH f&=ma

Options :

68019125937. 1
68019125938. 2
68019125939. 3

68019125940. 4

Question Number : 11 Question Id : 6801916612 Question Type : MCQ Option Shuffling : No Is



Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
In the following reaction, identify the product A and B

8]

L1AlH,
HJ A
B
[N
2.
%,
4.
Options :

68019125941. 1

68019125942. 2



68019125943. 3
68019125944. 4

Question Number : 11 Question Id : 6801916612 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



Fofafas afufrar & Sore A iR B 91 7591 &%

0

LiAlH,

2;
¥
4.
“? OH |
Options :

68019125941. 1
68019125942. 2
68019125943. 3
68019125944. 4



Question Number : 12 Question Id : 6801916613 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Consider the following statements with reference to Citral:

(A). Citral 1s a liquid which has a smell of lemon

(B). Oxidation of citral with alkaline permanganate followed by chromic acid
gives acetone, oxalic and laevulic acid

(C). It also forms oxime

(D). It shows two geometrical isomers: trans isomer known as neral and cis isomer
known as geramal

Choose the correct answer from the options given below:

1. (A). (B). (C) and (D)
2.(A). (B) and (C) Only
3.(A). (B) and (D) Only
4.(B). (C) and (D) Only
Options :
68019125945. 1
68019125946. 2
68019125947. 3

68019125948. 4

Question Number : 12 Question Id : 6801916613 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Rera & deH § Fafafed oyl R iR &

(A) ReTd T axa uerd § fored g 3t iy gidi 8

(B) ¥RIY RET-E & U1y Fera & iiaiaru & 918 Hiia® s 3 wiieH.
HIFfieTD AR dgfeisd TS Medi gl

(C) Ug TasH v d gl

(D) U8 &l S 3R fGErdl 8: ¢ SSHIER o -Rd & &4 8 SH
Wl & 3R 99 omsamR ol sRiFgd & =9 8 91 wdi g

i feu U famedi & ¥ 981 SR |

1. (A). (B). (C) 3R (D)
2.(A). (B) $TR (C)
3. (A). (B) 3R (D)
4. (B). (C) 3R (D)




Options :

68019125945, 1
68019125946. 2
68019125947. 3
68019125948. 4

Question Number : 13 Question Id : 6801916614 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following isomer of 1. 2- cyclohexanedicarboxylic acid form
anhydride on heating?

o

1. G

o

| ]
T

-

]

3. 0
Ly
\\\Cl
4. Reaction not possible
Options :
68019125949. 1
68019125950. 2

68019125951. 3

68019125952. 4



Question Number : 13 Question Id : 6801916614 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

FafEd 8 9 1. 2-Tsaccaa- e BIeigaied 37 &1 &I 91 9HEad TH
- R URRSES §41dl 87

O

|.--’”"'-
7

| ()
T

4. sififepar g et §
Options :
68019125949. 1
68019125950. 2
68019125951. 3
68019125952. 4

Question Number : 14 Question Id : 6801916615 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



Grve the structure of X and Y
1) BH;/THF NaBH,
X I ¢
u) H,0,. OH
}{ — 'D H
| CHZDH Y= HzG

OH
H
2. }{:_" HZ‘C Y = O CHEDH

OH

H

= H»C
OH
Options :

68019125953. 1
68019125954. 2
68019125955. 3
68019125956. 4

Question Number : 14 Question Id : 6801916615 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



X 3R Y @ GG J1d Siford

i) BH3/THF NaBH,

N - 0 CH, e ——— Y
i#) Hy0,. OH
X =0 o

CH

H
= H,C
X= H; Y= o0 CH,OH
OH
|
= HC
3. X= 0 OH £ T
0

Options :

-

L

H

68019125953. 1
68019125954. 2
68019125955. 3

68019125956. 4

Question Number : 15 Question Id : 6801916616 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



Identify the structure of the alkaloid having the followimng characteristics;
(A).Itis coca alkaloid having molecular formula C¢H,;.NO

(B). As the free base, it rapidly racemizes

(C). Its reactions show the presence of keto group and a tertiary nitrogen atom
(D). Synthesized by condensing ¥- methylammobutyraldehyde with
ethylacetoacetate in buffered solution at pH7

Choose the correct answer from the options given below:

L
N CH,COCH,
H3i
2.
= N
\ b
/ 2
N
3.
COCH,CHj
N
4.
Options :

68019125957. 1
68019125958. 2
68019125959. 3
68019125960. 4

Question Number : 15 Question Id : 6801916616 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1

it fa=maa e teaailus &1 W91 & UgaH &1

(A) U5 Fi1 Ueaiiys ¢ foaa1 mifde 3 CgH, NO 21

(B) 4 &R & ¥ ¥, Jg doil 4 IS &

(C) 391 Afifpart F1d1 95 3R U Joigs Asciad 9AI] &1 JufRufd $1 =i g1
(D) pH 7 W & 344 v famas & suseuficuiiee & a9 x-

A feu 7y fawedl & & g6l IR 941

1.
CH,COCH;4

N

y

\\ N
‘ / lH}
N
3
COCH,CH;
|
CHs
4.
Options :

68019125957. 1
68019125958. 2
68019125959. 3
68019125960. 4

Question Number : 16 Question Id : 6801916617 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Identify the product in the following chemical reaction

3
o

5
S5
S

|

Br

Br
/ \ . and / \
s
Br

Options :

68019125961. 1
68019125962. 2
68019125963. 3
68019125964. 4

Question Number : 16 Question Id : 6801916617 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



frrafead I siftidar & 3dre o ugarH &3

S

Br

e
—

Br

~
Sy

[ ]

5
Br
3.
S
4I @\
Br
5

Options :
68019125961. 1
68019125962. 2

68019125963. 3
68019125964. 4

Question Number : 17 Question Id : 6801916618 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



Which of the following molecule 1s aromatic ?

(A). s

U

O
&
s

Choose the correct answer from the options given below:

. (B) and (C) only.

. (A), (B) and (C) only.
. (A), (C) and (D) only
. (B). (C) and (D) only.

Options:

fa LD b =

68019125965. 1
68019125966. 2
68019125967. 3

68019125968. 4

Question Number : 17 Question Id : 6801916618 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0



Correct Marks : 4 Wrong Marks : 1

Profeiaa 4 § 19 @ o Wifes 27
(A). ~ F

@

(B). H
(). I‘
(D). H

Hi feu 7o fowedl # § W6l IR THI

. &ad (B) 3R (C)

. aa (A), (B) R (C)
.®ad (A), (C) ¥R (D)
. &9 (B), (C) 3R (D)

Options :

fa L B2 =

68019125965. 1
68019125966. 2
68019125967. 3

68019125968. 4

Question Number : 18 Question Id : 6801916619 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Which of the following compounds will have the highest order of their reactivity
towards electrophilic substitution reaction:

0COCH;

[ ]

G-

COOCH,

OH
Options :
68019125969. 1
68019125970. 2

68019125971. 3
68019125972. 4

Question Number : 18 Question Id : 6801916619 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



frafafaa 3 ¥ forg aifite &1 soaemRiT wfoirg= sifufdear & ufa 3!
AT gTSHdl BT I=add HH BHT:

OCOCH;

G_
COOCH;

.
.

Options :

[ ]

L]

68019125969. 1
68019125970. 2
68019125971. 3

68019125972. 4

Question Number : 19 Question Id : 6801916620 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Identify the product A in the following chemical reaction.

OH
HONO
- A
CH,NH,
OH
1;
CHs
0
l é
OH
3I @

4. Reaction do not occur

Options :

68019125973. 1
68019125974. 2
68019125975. 3

68019125976. 4

Question Number : 19 Question Id : 6801916620 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



fFafaRag e sifvfeo & 3ag A ot ugam &1

OH

HONO
» A

CH,NH,

OH

CH5

| )

OH

4. sffirfpar T Sl &
Options :
68019125973. 1
68019125974. 2
68019125975. 3

68019125976. 4

Question Number : 20 Question Id : 6801916621 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



Match List I with List IT

LIST I LISTII
A [ /0 [. |Oxepane
\\\_.a-ﬂ"
O
B. | | II. |Oxolane
;’D‘
C. Q I[II. |Oxetane
8]
D. Q IV. |Oxirane

Choose the eorreet answer from the options given below:

L. (A) - dID). (B) - (IV). (C) - D). (D) - (I)
2. (A) - (II). (B) - (D). (C) - (I). (D) - (IV)
3.(A)-(1). (B) - (). (C) - (IV). (D) - (II)
4.(A) - (I). (B) - (). (C) - (IV). (D) - (II)

Options :

68019125977. 1
68019125978. 2
68019125979. 3

68019125980. 4

Question Number : 20 Question Id : 6801916621 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Yal-1 T o -1 F B
A I T

|::In.
& .ﬁf_\\ I | H{Tatea
8]
D. Q IV, |3
A= feu U fae el o 9 9ot 3w 1

1. (A) - (II1). (B) - (IV). (C) - (I1). (D) - (I)
2. (A) - (ITI). (B) - (I). (C) - (I). (D) - (IV)
3. (A)-(I). (B) - (IT). (C) - (IV). (D) - (III)
4. (A) - (D), (B) - (I1I), (C) - (TV), (D) - (II)

Options :

68019125977. 1
68019125978. 2
68019125979. 3
68019125980. 4

Question Number : 21 Question Id : 6801916622 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



To arrange the followmng compounds in the order of basicity :
(A). NH,

(B). NH,

CH,
(C). NH5

NO,

T

i feu o faedi § @ Hel IR I

1.(B)>(A)>(C)>(D)
2.(D)>(C)>(B)=>(A)
(A)=B)=(C)=D)
(C)=D)=(A)>(B)

Options :

o L

68019125981. 1
68019125982. 2
68019125983. 3

68019125984. 4

Question Number : 21 Question Id : 6801916622 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

FefatEg oif=t S ara F 59 7 ool 5 F
(A). NH

(B). NH,
CH,
(C). NH;

NO,
D). H
i feu 7y sl § | 981 3o I

1.(B)>(A)=(C)=(D)
2.(D)>(C)>B)=>(A)
3.(A)>(B)=(C)> D)
4.(C)>=D)=>A)>(®B)

Options :

68019125981. 1
68019125982. 2
68019125983. 3
68019125984. 4



Question Number : 22 Question Id : 6801916623 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
Write the product A in the following reaction:

H,S0,
. = A
160 °C
The options are :
1. SO4H

oles

.8 S0O;H
3 504H
'D3H
4 SO,H
‘0311
Options :

68019125985. 1
68019125986. 2

68019125987. 3



68019125988. 4

Question Number : 22 Question Id : 6801916623 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
FfarET sfviear | oo A o

H,S0,

e A
160 °C

fome o

1. SO,H

b

S

SO4H

3. S0sH

get

04H
4. SO4H

8ol

3

Options :



68019125985. 1
68019125986. 2
68019125987. 3

68019125988. 4

Question Number : 23 Question Id : 6801916624 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Consider the following statements:

(A). 1.2- addition reaction occurs faster as compared to 1.4- addition reaction but
1.4 - addition product is more stable.

(B). Formation of 1.2 -addition product is kinetic or rate controlled.

(C). Formation of 1.4 -addition product 1s thermodynamic or equilibrium
controlled.

(D). At low temperature the formation of 1.2 -addition product from allyl cation 1s
a reversible reaction.

Choose the correct answer from the options given below:

1. (A). (B) and (D) only.
2. (A). (B) and (C) only.
3.(A). (B). (C) and (D).
4. (B). (C) and (D) only.

Options :

68019125989. 1
68019125990. 2
68019125991. 3
68019125992. 4

Question Number : 23 Question Id : 6801916624 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



fafeiiad oyl IR fdaR ¢

(A) 1.2 -TTor N 1.4 e sfifar ot gam 3§ diaar 3 it 8 fomg

1.4 TOoH i 31 Sare ifie RR eI

(B) 1. 2- Ao ififepar & Iaare o1 fHato nfaw a1 = Fafaa giar gl

(%ij 1, 4- GOt ififopar & Saarg @1 Fain Swmfao o g HdfEa giar
!

(D) BH A9HH IR, TASd 84199 T 1.2- GOio e & Iarg &1 fAaio

SepauiT 3ififepar |

-4 U e faeed| & 9§ 981 SR 1|

1. %dd (A), (B) 3R (D)

2. ad (A), (B) AR (C)
3.(A). (B). (C) R (D)
4.%ad (B), (C) 3R (D)

Options :

68019125989. 1
68019125990. 2
68019125991. 3
68019125992. 4

Question Number : 24 Question Id : 6801916625 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
) .

In SNI and Sy~ reactions

: : ; ’ . ’ ; ; .7 . y
(A). SNI is a unimolecular reaction with first order kineties while Sy~ reaction 1s
bimolecular reaction with second order kinetics.

= 2 - " . : :
(B). In Sy’ . the reaction proceeds through the formation of carbocation while Sy!
does not.

W . . . . .

(C). Sy 15 a stereospecific reaction. The product formed with inversion of
configuration only.
(D). S}—l reaction 1s favoured in the presence of weak base or poor nucleophile.

Choose the correet answer from the options given below:

1. (A). (B) and (D) only.
2. (A). (B) and (C) only.
3.(A). (C) and (D) only.
4. (B). (C) and (D) only.

Options :



68019125993. 1
68019125994. 2
68019125995. 3

68019125996. 4

Question Number : 24 Question Id : 6801916625 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
Sy SR 32 Siftifsrarsi &
(A) Sy! TUH DIfC D] I T 3Muias Hfifhar g afd s, fgda dife
T Bl fg-sMurad s gl
(B) Sy B HIUfehaT BTl & 101 & H1e99 9 317 96l o Siaid Syl |
TRl
(C) s\ o Bifaw 4y sif¥fshan 81 Sag o [4-414 & o™ GRI ST 6|
(D) 3ad &R 1 gaidl ANMUBIN B IR T ! afifchar gidl g1
- U Y foded 6 ¥ 98l SR A1

1. %ad (A), (B) IR (D)

2. %ad (A). (B) ¥R (C)

3.9ad (A), (C) 3R (D)

4.%ad (B). (C) 3R (D)

Options :

68019125993 1
68019125994. 2
68019125995. 3

68019125996. 4

Question Number : 25 Question Id : 6801916626 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Find the major product in the following reaction

cCly

&k
——

FeCl;

el

Cl

A : CCly

3:

&

Options :

| )

CCly

68019125997. 1
68019125998. 2
68019125999. 3

68019126000. 4

Question Number : 25 Question Id : 6801916626 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



frafaRad siufcar § yga e 311d S|

CCly

Cly
e

FeCl;

CCly

Cl

9 : Cels

»

Options:

| )

cCly

68019125997. 1
68019125998. 2
68019125999. 3
68019126000. 4

Question Number : 26 Question Id : 6801916627 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



The molar 1onic conductance at infinite dilution for NaOH, NaCl and BaCl, are

248.1 x 107, 126.5 x 10~ and 280.0 x 10~* S m? mol™! respectively. The Ae, for
Ba(OH), is

<107 S m? mol™!
< 107 S m? mol™!
<107+ S m? mol™!
<107* S m? mol™!

L e

o L e L
'::'-' IJ b !_j
Fo b

)‘I'\.NLJ—‘

4.5
Options :
68019126001. 1
68019126002. 2
68019126003. 3
68019126004. 4

Question Number : 26 Question Id : 6801916627 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

NaOH. NaCl 3R BaCl, & fe1U 3Fd Td1 R HIeR $afe dicda Ha:
248.1 x 1074, 126.5 x 107~ 3R 280.0 x 10~ Sm” mol™! €1 Ba(OH), & LA,

S

S 1113 mol™!
< 1074 8 111 2 mol™!
< 107* S 111‘ mol™!

< 107% 8 m? mol™!

faad I =
th L e UL
| ]

L

ks b2

*

—

L1

=

h L o

4.5
Options :
68019126001. 1
68019126002. 2
68019126003. 3
68019126004. 4

Question Number : 27 Question Id : 6801916628 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0



Correct Marks : 4 Wrong Marks : 1

In the conductometric titration of hydrochloric acid against ammonium hydroxide

1. The conductance mcreases till end point with the volume of NH,OH added
.

. The conductance remains more or less constant till the end point
3. The conductance remains more or less constant after the end point
4. The conductance increases after the end point with the volume of NH,OH

added

Options :

68019126005. 1
68019126006. 2
68019126007. 3
68019126008. 4

Question Number : 27 Question Id : 6801916628 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0
Correct Marks : 4 Wrong Marks : 1
BISSIgaliNG 3k & HITH gIg3IadIgs & 1Y ArabdliHdig S |

. NH,OH ®! §¢dl 31 & 9Ty Irided 3ifcd fdg a® dgar ol
ATadd sifad fog 9@ T RR AT 8|

AT Siiad fag & ara T fRR Edl o

4. NH,OH &1 ggdl 1 & 9y s 3ifaq fdg & arg vl dgar 3|

Options :

| S ] =t

L% ]

68019126005. 1
68019126006. 2
68019126007. 3

68019126008. 4

Question Number : 28 Question Id : 6801916629 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



The 10nic strength of a solution which 1z 0.1 molal in NaCl and 0.01 molal in
calcium Chloride 18 (assuming complete dissociation)

1. 0.13 molal
2. 0.26 molal
3.0.11 molal
4. 0.056 molal

Options :

68019126009. 1
68019126010. 2
68019126011. 3
68019126012. 4

Question Number : 28 Question Id : 6801916629 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

0% f[daa= &1 AAHAE Ugadl Nacl H 0.1 Aldd 3R Hiedad daR1gs 7 0.01
Hied & (qul fagrsH grd gU)

1.0.13 Hidd
2.0.26 Hidd
3.0.11 Hidd
4. 0.056 Hidd

Options :

68019126009. 1
68019126010. 2
68019126011. 3

68019126012. 4

Question Number : 29 Question Id : 6801916630 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



From the following half-cell reactions

Zn®" +2e¢ — Zn(s): ES,=-0.76 V

Cul +e—Culg)+1(aq); BESH=1017TV
The standard potential E? of the cell

Zn, 2112_(1 M) | I'(1M). Cul: Cu

will be

1.-042V
2. tL10V
3. +0.42V
44059V

Options :

68019126013. 1
68019126014. 2
68019126015. 3
68019126016. 4

Question Number : 29 Question Id : 6801916630 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
frafeiad sre-aa situfears 3

ZnT +2¢” — Zn(s): E‘E; =-0.76 V

Cul + & — Cu(s) +I'(aq): EE; =4 GATV
qd I 7D AT EC

Zn, an_{l M) | I"(1M), Cul; Cu

6_3 |
1.-042V
2.+1.10V
3.+042V
4. +0.59V

Options :

68019126013. 1
68019126014. 2
68019126015. 3

68019126016. 4



Question Number : 30 Question Id : 6801916631 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Match List I with List IT

LISTI LISTII

Energies Values

Energy of ground state of He™ L |+6.04eV
Potential energy of I orbit of H-atom I |-272eV

Kinetic Energy of II excited state of He™| [IL [34.4 eV

SIRICE

Ionization potential of He™ IV. |-54.4eV

Choose the correct answer from the options given below:

- (A) - (IV). (B) - (II). (C) - (I). (D) - (I1I)
(A) - (I). (B) - (IIT). (C) - (II). (D) - (IV)
(A) - (). (B) - (II). (C) - (IV). (D) - (I1I)
. (A) - (IIT). (B) - (IV). (C) - (I). (D) - (II)

a3 =

e s

Options:

68019126017. 1
68019126018. 2
68019126019. 3

68019126020. 4

Question Number : 30 Question Id : 6801916631 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



! 11 i 11 F e wifore

1 = 11

St A
A |He™ & O 3R &1 Goll L |+6.04eV
B. [H-URHIY] & H&d 1 Bl fUfMS SHoll | IL [ =272V
C. |He™ I ITToTd HTRIT 11 B 7Tl Foif| [IL [34.4 eV
D. |He™ &1 A faHd IV. |-544e
A= feu U fae el o 9 9ot 3w 1

L. (A) - (V). (B) - (I). (C) - (I). (D) - (IIT)
2.(A) - (I). (B) - (). (C) - (II). (D) - (IV)
3.(A)-(1). (B) - (I). (C) - (IV). (D) - (II)
4. (A) - (ITT). (B) - (IV). (C) - (I). (D) - (II)

Options :

68019126017. 1
68019126018. 2
68019126019. 3

68019126020. 4

Question Number : 31 Question Id : 6801916632 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The reduction potential of hydrogen half cell will be negative if

1. p(H;) =1 bar and
. p(H,) =1 bar and

.p(H,)=2barand [H']= 1M
4. p(H;)=2bar and [H"] =2M

1=1M

[H"
[H]=2M

| ]

Tad

Options :

68019126021. 1
68019126022. 2
68019126023. 3

68019126024. 4



Question Number : 31 Question Id : 6801916632 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
gIgelol- BTP-Ud Bl U= &0dl BUTHS sl df

1.p(H,) =1 SR SR [H] = IM
2. p(Hy) = 18R AR [H]=2M
3.p(Hy) =28R AR [H]= 1M
4. p(H,) =2 R AR [H]=2

Options :

68019126021. 1
68019126022. 2
68019126023. 3

68019126024. 4

Question Number : 32 Question Id : 6801916633 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

The decreasing strength of bond formed by overlap of
(A). s-3

(B). p-p

(C). s-p

tollows the order

Q). (A). (B).
(B). (A). (C).
_(A). (B). (C).
(A). (C). (B).

I3 =

e g

Options :

68019126025. 1
68019126026. 2
68019126027. 3

68019126028. 4



Question Number : 32 Question Id : 6801916633 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

9 sifdeam= gRIad ey &f gedl ugadl
(A). s-3

(B). p-p

(C). s-p

FH®PH IO Sdl &

Q). (A). (B).
.(B). (A). (C).
_(A). (B). (C).
4. (A). (C), (B).

|

a2

Options:

68019126025. 1
68019126026. 2
68019126027. 3

68019126028. 4

Question Number : 33 Question Id : 6801916634 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

The increasing order of molarity of 25 gm each of
(A). NaOH

(B). LiOH

(C). KOH

(D). AI(OH);

(E). B(OH);

in same volume of water 1s

D)<®)<(C)<(4)<(B)
. (D) <(C) <(B) <(A) <(E).
3.(B)<(A)<(C)<(E)<(D).
4. (B) <(C)<(D) <(A) <(E).

3 =

Options :
68019126029. 1
68019126030. 2



68019126031. 3
68019126032. 4

Question Number : 33 Question Id : 6801916634 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

9 Udid @i 25 U1H 1 Jiad] &1
(A). NaOH

(B). LiOH

(C). KOH

(D). Al(OH),

(E). B(OH);

gl & 90 9ET H R % g

(D)< (B)<(C) < (A)<(B)
(D) <(C) < (B) <(A) <(E).
.(B)<(4)<(C)<(B)<(D).
4.(B)<(0)<(D) < (A) <(E).

2 =

LI}

Options:

68019126029. 1
68019126030. 2
68019126031. 3
68019126032. 4

Question Number : 34 Question Id : 6801916635 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

An electron is confined to move in a one-dimensional box of length 1A. Its energy
in the first excited state is approximately

. 150.4 eV
1128V
.37.6eV
4.3420eV

Options:

e d =

68019126033. 1



68019126034. 2
68019126035. 3

68019126036. 4

Question Number : 34 Question Id : 6801916635 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

U% Suaci 1A Tas & U ! aiag 3 71fa & o Jiffd o) 599! ggal
Saford g1 & Sl Ty 8

.150.4 eV
1128 eV
3.37.6 eV
4.342.0eV

Options :

-3 =

68019126033. 1
68019126034. 2
68019126035. 3
68019126036. 4

Question Number : 35 Question Id : 6801916636 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

The increasing order of number of vibrational degrees of freedom from the
following

(A). CO,

(B). CH,

(C): B

(D). C,Hg

follows the order

_(A). (B). (C). (D).
_(A), (D). (C), (B).
.(B). (A). (C). (D).
Q). (A). (B). (D).

I =

o g

Options :



68019126037. 1
68019126038. 2
68019126039. 3

68019126040. 4

Question Number : 35 Question Id : 6801916636 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

FafaRad U Wdadl & U4 I Bl WA BT ggdl HH
(A). CO,

(B). CH,

(C).H,

(D) C,Hg

59 H &1 UTa- &dl ©

_(A). (B). (C). (D).
.(A). (D). (C). (B).
.(B). (A). (C). (D).
.(Q). (A). (B). (D).

fag b2 —

i

Options :

68019126037. 1
68019126038. 2
68019126039. 3
68019126040. 4

Question Number : 36 Question Id : 6801916637 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Which of the following regarding the shapes of d -orbitals 1s not correct

¥ . . . . .
1. d,~ 1s a dumb-bell shaped curve symmetric about z-axis with a ring like

collar in xy plan

| ]

. dxz- ‘.2 13 double dumb-bell shaped with signs of the lobes on y-axis will
always be positive.

3. dy 1s double dumb-bell shaped

4. A 3d orbital would have no radial node

Options :

68019126041. 1
68019126042. 2
68019126043. 3
68019126044. 4

Question Number : 36 Question Id : 6801916637 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

A-BEH BT NP & Jay & Fef@a I s g Tl e

1.d,% . z-31& H xy o H 09-JHH PIeR & G4 Th JHIAT STEADHR I

g
2. d 2 2 y-318 R GUS| & g YTeD Gl & WY 6 SHA®R ¢
3. dy, IERT SR ¢

4. T 3d P& H DIg Ay (g Tl gl

Options :

68019126041. 1
68019126042. 2
68019126043. 3

68019126044. 4

Question Number : 37 Question Id : 6801916638 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



The magnitude of angular momentum of an electron occupying 3s atomic orbital 15

N2 h
N6 i
3
1.0
Options :

I =

(%]

68019126045. 1
68019126046. 2
68019126047. 3

68019126048. 4

Question Number : 37 Question Id : 6801916638 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

3s TRHTY] H&D B AP Sadei- & DI a7 BT IRAT§

2 i
V6 h
: x-@ i
4.0
Options :

fad b =

68019126045. 1
68019126046. 2
68019126047. 3

68019126048. 4

Question Number : 38 Question Id : 6801916639 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



Match List I with List IT

LIST I LISTII
(Quantity) (Conversion)
A |88 gof CO; [ |2 mol
B. |6.023 = 10% molecules of H,O| II. |1 mol
C. [962 of O IIL. |6.023 = 1023 molecules
D. |1 mol of any gas IV. |3 mol

Choose the correct answer from the options given below:

1. (A) - (). (B) - (II). (C) - (IV). (D) - (IIT)
2. (A) - (IID). (B) - (II). (C) - (I). (D) - (IV)
3. (A) - D). (B) - (). (C) - AII). (D) - V)
4. (A) - (D). (B) - (II). (C) - (I). (D) - (IV)

Options:

68019126049. 1
68019126050. 2
68019126051. 3

68019126052. 4

Question Number : 38 Question Id : 6801916639 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

l-1 B Y11 & 1Y AT R
A1 GEilt
(GLEL)] (EUTaRUN

A |88 T co, L [2d@

B. [H,0® 6023 x 102 7| I |1 Aid

C. (96 TH 0, L. |6.023 = 1023 30

D [l i@ ® 1A |1V |3 A

A= feu e fo el o 9 9ol 3wk I

L. (A) - (). (B) - (II). (C) - (IV). (D) - (III)
2. (A) - (III). (B) - (II). (C) - (I). (D) - (IV)
3. (A) - (II). (B) - (I). (C) - (III). (D) - (IV)
4. (A) - (IT). (B) - (D). (C) - (I). (D) - (IV)

Options :



68019126049. 1
68019126050. 2
68019126051. 3

68019126052. 4

Question Number : 39 Question Id : 6801916640 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
Match List I with List IT

1ISTI LISTII
(Concentration) {Units)
A |Molarity I. |mol
B. |Mole Fraction | II. |unitless
C. Mole 111 |mol L7t
D. |[Molality IV. |mol ke

Choose the correct answer from the options given below:

. (A)- (). (B) - (II). (C) - (IV). (D) - (I1I)
. (A) - (III). (B) - (II). (C) - (I). (D) - V)
- (A) - (D). (B) - (I). (C) - (IIT). (D) - (IV)
- (A) - (ID). (B) - (IT). (C) - (I). (D) - (IV)

faa [ —

=

Options :

68019126053. 1
68019126054. 2
68019126055. 3

68019126056. 4

Question Number : 39 Question Id : 6801916640 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



-1 BT YHI-11 o FIY HeTH i

1 T I
GIEGD) [EEZERL)
Aol 1 ("
Hiel 3l 1. [ZoRied

A 11T |mol L
I IV. |mol kg_i

2 Ry e e § & o SR

- (A) - (I). (B) - (II). (C) - (IV). (D) - (I1I)
- (A) - (II). (B) - (II). (C) - (I). (D) - (IV)
. (A) - (D). (B) - (I). (C) - (IIT). (D) - (IV)
- (A) - (ID). (B) - (IIT). (C) - (I). (D) - (IV)

P

gl =

I =

N

Options :

68019126053. 1
68019126054. 2
68019126055. 3

68019126056. 4

Question Number : 40 Question Id : 6801916641 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The plot of log k versus 1/T of a reaction 1s linear with a

1. Positive slope and zero intercept

2. Positive slope and nonzero intercept
. Negative slope and zero intercept

4, Negative slope and nonzero mtercept

L]

Options :

68019126057. 1
68019126058. 2
68019126059. 3
68019126060. 4

Question Number : 40 Question Id : 6801916641 Question Type : MCQ Option Shuffling : No Is



Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

T MHRPATF log k T 1/T PI @i T F IUI@H ©

1. YPRIED YaUdl AR Y 30T S
2. GHRIAD YU 3R SR TS
3. THRIAD VAUl 3R Y a6 S
4, FPRIAD HAUIAT R Y HT-TS

Options :

68019126057. 1

68019126058. 2

68019126059. 3

68019126060. 4

Question Number : 41 Question Id : 6801916642 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Among the given characteristics of viscosity of liquids

(A). Greater the viscosity. more slowly the liquid flows

(B). Glass 1s an extremely viscous liquid

(C). Viscosity of liquid increases as the temperature rises

(D). Fluidity 1s the reciprocal of viscosity

Choose the correct characteristic(s) from the options given below:

1. (A). (B) and (D) only.
2. (A). and (C) only.
. (B) and (C) only.
4. (A). (B). (C) and (D).

L]

Options:

68019126061. 1
68019126062. 2
68019126063. 3

68019126064. 4

Question Number : 41 Question Id : 6801916642 Question Type : MCQ Option Shuffling : No Is



Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

&d gl ot Tarar Bt 4 TS faRwarsi B g

(A). gl fSra- sifde g, g9 &1 waig sifds fg g
(B). 70T U IS WG g

(C). TTIHH §¢1 TR &4 &I Rl 9¢ ol o

(D). TR WHdl & Ufdad ©

- fqU U fadedl 1 9 Tel [aRydrsii &1 9g- o

1. %ad (A), (B) 3R (D)
2. %ad (A). 3R (C)
3.®dd (B) 3R (C)

4. (A). (B). (C) 3R (D).

Options :

68019126061. 1
68019126062. 2
68019126063. 3

68019126064. 4

Question Number : 42 Question Id : 6801916643 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

The Millar indices of crystal planes which cut through the crystal axes at (2a. 3b,
¢) are

Options:

68019126065. 1
68019126066. 2
68019126067. 3
68019126068. 4



Question Number : 42 Question Id : 6801916643 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

feped aal & fHer Gaoic ol fbscd 3Mafl BT (2a. 3b. ¢) TR Hid=g Hd ©

.(326)
{231)
(132)
.(333)

Options :

|

e faa

68019126065. 1
68019126066. 2
68019126067. 3
68019126068. 4

Question Number : 43 Question Id : 6801916644 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The number of degrees of freedom for liquid water and water vapour in
equilibrium at a pressure of 1 atm is

fad BJd —
| R e B

4.
Options :

L

68019126069. 1
68019126070. 2
68019126071. 3
68019126072. 4

Question Number : 43 Question Id : 6801916644 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0



Correct Marks : 4 Wrong Marks : 1
I & 5d Od 3R O 9T & [T 1 atm <16 U Waadl &1 HifC I G 8

fas 2 —
| R I e

4,
Options :

(%]

68019126069. 1
68019126070. 2
68019126071. 3

68019126072. 4

Question Number : 44 Question Id : 6801916645 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

For a zero order reaction

(A) The rate of the reaction is independent of reactant concentration

(B) The rate constant is independent of temperature

(C) The rate constant of the reaction is independent of reactant concentration
(D) Thermal decomposition of HI on gold surface is a zero order reaction
Choose the correct feature(s) from the options given below:

. (A) only.

. (A) and (B) only.

. (A). (C) and (D) only.
. (B) and (C) only.

| B

e o

Options :

68019126073. 1
68019126074. 2
68019126075. 3
68019126076. 4

Question Number : 44 Question Id : 6801916645 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1

IR Bife fferar & ferg

(A). TP 1 2R SRS Figal 4 W &

(B). &= &R d9uH ¥ WaF &

(). 3iffepar &1 R RARIT HHRS Tigal 4 Wad &

(D). T P JdIg WR HI BT AU S{de U I Hifc o] sAifsar g
i f4u U faedl § 9 el fa=ydn fo=ivdmd 7=

1.Pad (A)

2. Had (A) 3R (B)
3.%4dd (A). (C) 3R (D)
4. %dd (B) 3R (€)

Options :

68019126073. 1
68019126074. 2
68019126075. 3

68019126076. 4

Question Number : 45 Question Id : 6801916646 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The unit of van der Waal's constant ‘a’ 1s

. dm? mol™!

. dm® atm mol™

fad  |-d =

. dm® mol™!

4. dm? atm mol™?

Options :

68019126077. 1
68019126078. 2
68019126079. 3

68019126080. 4

Question Number : 45 Question Id : 6801916646 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

g =R 9 BRI 2 DI SPS o

. dm> mol™?

1

2. dm® atm mol™2
3. dm® mol™!

4. dm? atm mol™!

Options :

68019126077. 1
68019126078. 2
68019126079. 3
68019126080. 4

Question Number : 46 Question Id : 6801916647 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

The expression of average speed (u,,) of molecules of a gas 1s given by

—

I{SRTWHE
Tm |

1/2

-J

IfBRTW
L_Hﬂ/f;
(3R
)

I(3RTJ”2
m

Options :

Taa

o,

68019126081. 1
68019126082. 2
68019126083. 3

68019126084. 4



Question Number : 46 Question Id : 6801916647 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

U 719 & U3 B T T (u,,) DT IS 8 THR Bl &
1/2
(e
8RT
(=)
3RT
(G)
| /ﬁ\hﬂ

m

—

1/2

| ]

1/2

L]

.

Options:

68019126081. 1
68019126082. 2
68019126083. 3

68019126084. 4

Question Number : 47 Question Id : 6801916648 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Which of the following statements is not correct

. Viscosity of ethanol 1s smaller than that of glycol

. Viscosity of liquids increases with increase of pressure

. The variation of viscosity of liquids with temperature is given by
-E/RT

|

Laa

n=Ae
4. The volume of liquid flowing in time t through a pipe 1s given by Poisseuille
equation

Options :
68019126085. 1
68019126086. 2

68019126087. 3



68019126088. 4

Question Number : 47 Question Id : 6801916648 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

FrafaRad & 9 &F 1 Y 98l Tol ©

1. 31 B WA TS HId DI ga-1 3 $H 8ldl o

2. 316 §¢- TR 54l &I WgHdl §¢ 9dl &

3. AT9HE & 919 Sai1 &1 YAl DI HEd] Y9 YHR 1 Hi okl
%}?:A ,—ERT

4. U UISY & H1H Y 99T t § 98- dTcd 59 DI HET GISRIE GHIBI0 gRI
RIRCASINIE

Options :

68019126085. 1
68019126086. 2
68019126087. 3
68019126088. 4

Question Number : 48 Question Id : 6801916649 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The expression relating molality (m) and mole fraction (x;) of solute in a solution
18

li
1.x, =
I +mM,
ﬂh'l'—dr1
2.x, =
o 1=-mM,
| +mM,
3.x, =
§ mM,
| - li
4.x, =
m ."vi’rl
Options:

68019126089. 1



68019126090. 2
68019126091. 3

68019126092. 4

Question Number : 48 Question Id : 6801916649 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Us faeraH o faod & Hidadl (m) SR Hid 32 (x,) DI Haltd B aral

HiE® &
| % = mfl-rj"
T 1+mM,
mM,
1 el v |
T 1-mM,
N | +mM,
=t FH;‘WI
| —mM,
4. x, =—L
mM,
Options :

68019126089. 1
68019126090. 2
68019126091. 3
68019126092. 4

Question Number : 49 Question Id : 6801916650 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

The atomic masses of "H=1.673 x 10727 kg and *°C1 = 58.06 x 1027 kg. The
reduced mass of HCl is

.162.6 x 10~%7kg
. 16.26 x 10727 kg
.1.626 x 10727 kg
1626 x 10727 kg

e o



Options :

68019126093. 1
68019126094. 2
68019126095. 3
68019126096. 4

Question Number : 49 Question Id : 6801916650 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

URHTY] Go0HTH 'H = 1.673 » 10727 [T 3R °C1=58.06 « 10727 AT § 1 HCI
&1 -ildd GodH §

1.162.6 x 1072701
2.16.26 x 10727 fhu
3.1.626 = 10727 fou
L1626 x 10727 &1

Options:

=y

68019126093. 1
68019126094. 2
68019126095. 3
68019126096. 4

Question Number : 50 Question Id : 6801916651 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List I with List IT

LIST1I
(Sign of thermodynamic & LISTII
properties) (Consequences)

Beaction will be non-spontaneous
A JAH=—ve AS=—e AG=—ve]| L A P
at high temperature

I Reaction will be non-spontaneous

B. |AH=—1ve AN =—ve, AG =+ve ? i
at low temperature

Eeaction will be spontaneous at

C. |AH=+ve AS = +ve, AG = +ve| 1L
low temperature

B, | A= e AS S isa RG-S —va| TV Reactmn will be spontaneous at
high temperature

Choose the correct answer from the options given below:

1. (A) - (I). (B) - (III). (C) - (I). (D) - (IV)
2. (A) - (II). (B) - (I). (C) - (II). (D) - (IV)
3.(A) - (D). (B) - (I1). (C) - (IV). (D) - (I)

4. (A) - (D). (B) - (IV). (C) - (1). (D) - (1II)
Options :
68019126097. 1
68019126098. 2
68019126099. 3
68019126100. 4

Question Number : 50 Question Id : 6801916651 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



-1 BT YHI-11 o FIY HeTH i

@mvrﬁaﬂuqnhaﬂﬂ%m) H
A |AH=—ve AS=—ve, AG = I [3= argHHE o SfiHfehar srda: g
B. |AH=—veAS = —ve,AG = +ve | 1. |19 9UHMA UR URHTT 3Rad: gF1
C. |AH = +ve. AS = +ve, AG = +ve| IIL. |FH ATUHM TR 4fifshar w@a: grft
D. |AH = +1ve A8 = +ve, AG = —ve| IV. [ 3= dIUHH UL afimﬁﬁﬁﬂﬂ

3 fu e R § 3 o SR

. (A) - (D). (B) - (II). (C) - (I). (D) - (IV)
. (A) - (IIT). (B) - (I). (C) - (IT). (D) - (IV)
. (A) - (III). (B) - (II). (C) - (IV). (D) - (I)
4. (A) - (D). (B) - (AV). (C) - (I). (D) - (IIT)

b

L)

Options :

68019126097. 1
68019126098. 2
68019126099. 3
68019126100. 4

Question Number : 51 Question Id : 6801916652 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Calculate the wavelength (in nanometer) associated with a proton moving at 1.0
10° ms1,

1. 0.032 nm
2.0.40 nm
2.5 nm
4. 14.0 nm

Options :

i

68019126101. 1
68019126102. 2
68019126103. 3
68019126104. 4



Question Number : 51 Question Id : 6801916652 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

1.0 = 10° ms~! W Tfaid Uiei- ¥ Irag duileed ﬁ?ﬂﬁaﬁwﬁwﬁ

1.0.032 U4UH
2. 0.40 U-UH
3.2.5U-UH

4. 14.0 U-UH

Options :

68019126101. 1
68019126102. 2
68019126103.3

68019126104. 4

Question Number : 52 Question Id : 6801916653 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

The probability of finding the electron in the px orbital is

(A). Zero at the nucleus

(B). Maximum on two opposite sides of the nucleus along X-axis
(C). Zero on Z- axis

(D). Same on all sides around the nucleus

Choose the correct answer from the options given below:

1. (A). (B) and (D) only.
2. (A). (B) and (C) only.
_(A). (B). (C) and (D).
4. (B). (C) and (D) only.

Laa

Options :

68019126105. 1
68019126106. 2
68019126107. 3

68019126108. 4



Question Number : 52 Question Id : 6801916653 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

(A). TS R

(B). X-3H& & 3% T Dt < faudia yoirsff o2 ifgepan
(C). Z-3M& R I

(D). THS & IRT SR FH TP FAH

19 fdu T faeedl § 9 9gl SR :

1. %ad (A). (B) 3R (D)
2.%ad (A). (B) 3R (C)
3. (A). (B). (C) 3R (D).
4. %ad (B). (C) 3R (D)
Options :
68019126105. 1
68019126106. 2
68019126107. 3

68019126108. 4

Question Number : 53 Question Id : 6801916654 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

The correct order of decreasing ionic radii among the following isoelectronic
species 1s

(A). K7

(B). Ca®”

(€). CF

(D). §&-

Choose the correct answer from the options given below:

1. (A)> (B)>(C) > (D).
2.(A)>(C) > (B) > (D).
3.(D)> (B) > (C) > (A).
4.(D)> (C) > (A) > (B).

Options:



68019126109. 1
68019126110. 2
68019126111. 3

68019126112. 4

Question Number : 53 Question Id : 6801916654 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Frafafad gagdeerH wizhs & o= yedt smafie Bear o1 9el o9 8
(A). K™

(B). Ca®™

(C). CI”

(D). §*

e feu e fae el o 9 Hel 3wx -

.(A)>(B)>(C)> (D).
(8)>(C)>(B)> (D).
.(D)>(B)>(C)>(A).
(D)>(C)>(a)>(B).

faa o —

=

Options :

68019126109. 1
68019126110. 2
68019126111. 3

68019126112. 4

Question Number : 54 Question Id : 6801916655 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



Electronegativity of the following elements increases in the order
(A). C

(B). N

(C). Si

(D). P

Choose the correct answer from the options given below:

1. (C). (D). (A). (B).
2. (C). (A). (D). (B).
3.(B). (A). (D). (C).
4. (C). (B), (D), (A).

Options :

68019126113. 1
68019126114. 2
68019126115.3

68019126116. 4

Question Number : 54 Question Id : 6801916655 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

fFrafifad dal @t degd HUTHS Al &1 ARG HH 8
(A). C

B).N

(C). Si

(D). P

A= feu e foe el o 9 9ol 3w -

1. (C). (D). (A). (B).
2. (C). (A). (D). (B).
3. (B). (A). (D). (C).
4. (C). (B). (D). (A).

Options :

68019126113. 1
68019126114. 2
68019126115. 3

68019126116. 4

Question Number : 55 Question Id : 6801916656 Question Type : MCQ Option Shuffling : No Is



Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

The compound (s) with two lone pairs of electrons on the central atom 1s (are)
(A). BrF;

(B). CIF,

(C). XcF,

(D). SE4

Choose the eorreet answer from the options given below:

. (A). (B) and (D) only.
. (B) and (C) only.

.(B). (C) and (D) only.
4. (A). (C) and (D) only:.

= =

Tad

Options :

68019126117. 1
68019126118. 2
68019126119. 3

68019126120. 4

Question Number : 55 Question Id : 6801916656 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

BEIY URA] W gadc I & ol Upd g aral dif® © (8)
(A). BiF;

(B). CIF;

(C). XeFy

(D). SF4

= faw e faeedl # § 98 SR -

1.%ad (A). (B) R (D)
2. %ad (B) 3R (C)

3.®dd (B). (C) AR (D)
4.%dd (A). (C) 3R (D)

Options :
68019126117. 1

68019126118. 2



68019126119. 3
68019126120. 4

Question Number : 56 Question Id : 6801916657 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Stability of the species Li,, L1,™ and L1, ™ mereases in the order of:
1.Li," <Li; <Liy"
2. By eliy <Lir
3.Li;” <Li, <Li,
A, Lig<Liy < ki
Options :
68019126121. 1
68019126122. 2
68019126123. 3

68019126124. 4

Question Number : 56 Question Id : 6801916657 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
WS Liy. Li,” 3R Li,” &1 1@ MH 0 H gl &
1.Li;” <Li, <Liy"
2.14, €Fi; <Ly
3.Li,”"<Li, <Liy
4 Lig<Li; <Liy"
Options :
68019126121. 1
68019126122. 2

68019126123. 3



68019126124. 4

Question Number : 57 Question Id : 6801916658 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

SF,. SF, and SF have the hybridization at sulphur atom respectively as

%
i

.sp%. sp°. sp°d
L U
. 8p. sp”, sp d”

L A B

sp. sp°d. sp>d?
4. sp>, spd?. d%sp’

Options :

68019126125. 1
68019126126. 2
68019126127. 3

68019126128. 4

Question Number : 57 Question Id : 6801916658 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

SF.. SF, 3R SF, § PHTT: Yeh TRAT] R HHU §

2 ES i)
 sp2. sp°. spd?

|

sp. sp, spod?

L]

.sp. spod. sp>d?
4. sp>, spd?. d%sp’

Options :

68019126125. 1
68019126126. 2
68019126127.3

68019126128. 4



Question Number : 58 Question Id : 6801916659 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Oxidation state of each C1 in CaOCl, 1s/are

Options :

68019126129. 1
68019126130. 2
68019126131. 3

68019126132. 4

Question Number : 58 Question Id : 6801916659 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

CaOCl, T UAD C1 DI HRIDR0T A/ TR 8/8

0

M
-1
4.+1,-1

-a =

L]

Options :

68019126129. 1
68019126130. 2
68019126131. 3

68019126132. 4

Question Number : 59 Question Id : 6801916660 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0



Correct Marks : 4 Wrong Marks : 1

Which of these will not be oxidised by ozone ?
1.KI

2. FeSO,

3. KMnO,

. K>MnOy

iy

Options :

68019126133. 1
68019126134. 2
68019126135. 3
68019126136. 4

Question Number : 59 Question Id : 6801916660 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time: 0
Correct Marks : 4 Wrong Marks : 1
S8 T [T il gRT Siaite o I8! g

1. KI
2. FeS0y
3. KMnO,
4, HENIIIO_]_

Options :

68019126133. 1
68019126134. 2
68019126135. 3

68019126136. 4

Question Number : 60 Question Id : 6801916661 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Which one of the following 1s the weakest base ?

1. Ca(OH),
2.KOH
3. LiOH
. Sr(OH),

=y

Options :

68019126137. 1
68019126138. 2
68019126139. 3

68019126140. 4

Question Number : 60 Question Id : 6801916661 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
FafiEd 9 oF 9 9ad gad &R 82

. Ca(OH),
.KOH
'LiOH

- Sr(OH),

N o

Options :

68019126137. 1
68019126138. 2
68019126139. 3

68019126140. 4

Question Number : 61 Question Id : 6801916662 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Which of the following oxides 1s not expected to react with sodium hydroxide ?

. CaO
. 810,
. BeO
4. B,0,

fad -2 —

Options :

68019126141. 1
68019126142. 2
68019126143.3

68019126144. 4

Question Number : 61 Question Id : 6801916662 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

frafafaa & @ fog sifaags ot Tifsan sesiags & Iy sifiifear amféa

Tel g2

1. CaO

2. 8i0,

3.BeO
4.B,0,

Options :

68019126141, 1

68019126142, 2

68019126143 3

68019126144. 4

Question Number : 62 Question Id : 6801916663 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



The basic structural unit of silicates 1s

1. $i05%~
1 P
3. Si0~

4. 5i0,*

Options :

68019126145. 1
68019126146. 2
68019126147. 3

68019126148. 4

Question Number : 62 Question Id : 6801916663 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Rifcepey &1 gd IEHH® 3978 ©

1. Si057~

2. 10,2~

3. Si0™

4. $i0,*
Options :
68019126145 1
68019126146. 2
68019126147. 3

68019126148. 4

Question Number : 63 Question Id : 6801916664 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



Match List I with List IT

LISTI LISTII
Formula Structure
A |XeOy I. |Pyramaidal
B. |XeO,F, II. | Tetrahedral
C. |XeFy III. | Trngonal bipyramidal
D. |XeO4 IV |Square planar

Choose the correct answer from the options given below:

1. (A) - (I). (B) - (II). (C) - (IV). (D) - (I)
2. (A) - (I1). (B) - (IV), (C) - (III). (D) - (I)
3. (A) - (I). (B) - (I).. (C) - (IV). (D) - (III)
4.(A) - (D). (B) - (II). (C) - (IV). (D) - (1)

Options:

68019126149. 1
68019126150. 2
68019126151.3

68019126152. 4

Question Number : 63 Question Id : 6801916664 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

eil-1 1 -1 & |1y fier SR
At = 11
T TR

A [XeOy I |[oafEst

B. |XeO;F; I EG

C. |XeFy 1L | iviiy fgfoRmast

D. |XeO5 IV. |t Jeirg

A= feu e foe el o 9 gt 3w I

L. (A) - (). (B) - (IIT). (C) - (IV). (D) - (I)
. (A) - (ID. (B) - (IV). (C) - (III). (D) - (I)
. (A)- (D). (B) - (II). (C) - (IV). (D) - (III)
4. (A) - (I). (B) - (III). (C) - (IV). (D) - (I

| ]

L]

Options:



68019126149. 1
68019126150. 2
68019126151. 3

68019126152. 4

Question Number : 64 Question Id : 6801916665 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Reaction of diborane with excess ammonia at low temperature gives initially

. B,H, NH,
. Borazole
. [BH,(NH3),] [BH,]
4. BoN4Hyg

fag 2 =

Options :

68019126153. 1
68019126154. 2
68019126155. 3

68019126156. 4

Question Number : 64 Question Id : 6801916665 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

3 drHH R Afaled smifar & 1Y Sgany of AfifearuRy g it g

' B,H,.NH,;
EINEIN]

- [BH;(NH;), ] [BH, ]
. BoN4Hy

—

e L

Options :
68019126153. 1
68019126154. 2



68019126155. 3

68019126156. 4

Question Number : 65 Question Id : 6801916666 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
Match List I with List IT

LISTI LISTII
Ion Shape
A |ICL™ I. |V-shape
B. |[NH,™ I[I. |[Linear
C. INH," ITI. | Tetrahedral
D. |[PtCl,]*~ IV. |Square Planar

Choose the correct answer from the options given below:

(A) - (II). (B) - (IIT). (C) - (I). (D) - (IV)
. (A) - (IIT). (B) - (IT). (C) - (I). (D) - (IV)
(A)-(II). (B) - (I). (C) - (I1I). (D) - (IV)
4.(A) - (IIT). (B) - (IV). (C) - (D). (D) - (II)

fag b2 —

Options :

68019126157. 1
68019126158. 2
68019126159. 3
68019126160. 4

Question Number : 65 Question Id : 6801916666 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



-1 BT YHI-11 o FIY HeTH i

gt 1 = 11
ST HTH
ICL,~ L (dt-3mpfd
NH,~ . Ra®

NH4+ I11. [Iehald
[PtC1,]*~ A GUGEID

2 R R § & od SR

. (A) - (II). (B) - (IIT). (C) - (1), (D) - (IV)
(A) - (). (B) - (IT). (C) - (I). (D) - (IV)
_(A) - (I1), (B) - (I). (C) - (TIT), (D) - (IV)
. (A) - (III). (B) - (IV). (C) - (I). (D) - (II)

olo|w|r

2 =

e faa

Options :

68019126157. 1
68019126158. 2
68019126159. 3

68019126160. 4

Question Number : 66 Question Id : 6801916667 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following species has the highest electron affinity ?

[FUT S -
P!
=

4. Na~
Options :
68019126161. 1
68019126162. 2
68019126163. 3

68019126164. 4



Question Number : 66 Question Id : 6801916667 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

fFrafarad § 9 fog Wik § 9a9 31U sdac §ydis?

T
ACET
o
4. Na~
Options :

L A B

68019126161. 1
68019126162. 2
68019126163. 3

68019126164. 4

Question Number : 67 Question Id : 6801916668 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Arrange the increasing order of charges (molar conductivity) of the compounds
used in Werner coordination theory

(A). CoCl;.6NH;

(B). CoCl;.5NH;4

(C). CoCl; ANH,4

(D). CoCl3.3NH;

Choose the correct answer from the options given below:

.(A). (B). (C). (D).
.(D). (C). (B). (A).
.(B). (A). (D). (C).
.(C). (B). (D). (A).

g b2 —

=

Options :

68019126165. 1
68019126166. 2
68019126167. 3

68019126168. 4



Question Number : 67 Question Id : 6801916668 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

a-R gH-a0 GGid J ugad gifiie] & S (HieR gradan) & 3RIg! o ol
HarYd P

(A). CoCl;.6NH,;

(B). CoCls.5NH;

(C). CoCl;.ANH;

(D). CoCl;.3NH,

- forg T et & & 8 SR

1. (A). (B). (C). (D).
2. (D). (C). (B). (A).
.(B). (A). (D). (C).
.(C). (B). (D). (A).

%]

Y

Options :

68019126165. 1
68019126166. 2
68019126167. 3
68019126168. 4

Question Number : 68 Question Id : 6801916669 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
What is the EAN of [Co(NH;)s]> ™2

.36
. 38
;35
.54
Options:

| R

S )

68019126169. 1
68019126170. 2

68019126171. 3



68019126172. 4

Question Number : 68 Question Id : 6801916669 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

[Co(NH;)sP™ @1 THTd! qRHTU] TedT o1 57

| R
Faa T

L]
LI}
P I = s T

4.
Options :

iy

68019126169. 1
68019126170. 2
68019126171. 3

68019126172. 4

Question Number : 69 Question Id : 6801916670 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
Match List I with List IT

LISTI LISTII
Ions Magnetic moment (BM)
A |Co® I | LS
B. [Mn®™ I |5.87
C. |oe™ ITT. |4.90
D. [Ccu™ | 592

Choose the correct answer from the options given below:

. (A) - (ID). (B) - (IV). (C) - (IIT). (D) - (I)
(A) - (I). (B) - (IIT). (C) - (II). (D) - (IV)
. (A) - (D). (B) - I). (C) - (IV). (D) - (IIT)
. (A) - (II). (B) - (IV). (C) - (I). (D) - (II)

fad b =

e

Options:



68019126173. 1
68019126174. 2
68019126175. 3

68019126176. 4

Question Number : 69 Question Id : 6801916670 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

YI-1 &1 I-11 & Ty fie- sRe.
A &I
AT SES T AT (BM)
A o I |1.73
B. [Mn® I |3.87
c. le” 111 [4.90
D. |cut IV. |5.92
g f3U Y f9e el & 9 el SR TH:
1. (A) - D). (B) - V). (C) - (II). (D) - (I)
:

. (A) - (I). (B) - (IIT). (C) - (II). (D) - (IV)
- (A) - (). (B) - (). (C) - (IV). (D) - (III)
(A) - (D). (B) - (IV). (C) - (D). (D) - (II)

Taa

ey

Options :

68019126173. 1
68019126174. 2
68019126175. 3

68019126176. 4

Question Number : 70 Question Id : 6801916671 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List I with List II

LISTI LISTII
Metal/compounds Catalytic properties
A |TaCly I. |Adams catalyst
B. |Fe50y II. |Fepp svnthesis
C. |PtPtO ITI. |Used as the Zieglar-Natta catalyst
D M1 IV, |Used as Fenton's reagent

Choose the correct answer from the options given below:

1. (A)-(I). (B) - (II). (C) - (III). (D) - (IV)
2. (A) - (I), (B) - (I11). (C) - (IT), (D) - (IV)
3. (A) - (I). (B) - (IT). (C) - (IV). (D) - (ITI)
4. (A) - (III). (B) - (IV). (C) - (I). (D) - (II)

Options :

68019126177. 1
68019126178. 2
68019126179. 3

68019126180. 4

Question Number : 70 Question Id : 6801916671 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Geil-1 1 -1 & |1y fHer SR
LIST I LIST 1T

urgAifE SRS U0
A |TiCL I | USH JAR®D
B. |FeSO, 1. [0 Heefuor
C. [PPrO 111 |FSFTeR-ATET IaR® o &4 H UGN fobdl A1l &
D. [Ni IV. [Ged & HHHS & &9 H SUgHT fhal ol ¢
e feu e fae el o 9 gl 3w I

1.(A) - (1), (B) - (I), (C) - (11T}, (D) - (1V)
2. (A) - (I). (B) - (T11), (C) - (I), (D) - (IV)
3. (A)- (1), (B) - (1), (C) - (IV), (D) - (IIT)
4. (A) - (II). (B) - (IV). (C) - (I). (D) - (II)

Options :



68019126177. 1
68019126178. 2
68019126179. 3

68019126180. 4

Question Number : 71 Question Id : 6801916672 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Europium(Eu) resembles Calcium(Ca) in the following ways:
(A). Both are diamagnetic

(B). Insolubility of their sulphates and carbonates in water
(C). Solubility of these metals mn liquid NH;

(D). Insolubility of their dichlorides in strong HCI

Choose the correct answer from the options given below:

. (A). (B) and (D) only.
. (A). (B) and (C) only.
_(A). (B). (C) and (D).
4. (B). (C) and (D) only.

faa | —

Options :

68019126181. 1
68019126182. 2
68019126183. 3

68019126184. 4

Question Number : 71 Question Id : 6801916672 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



mﬂﬂ (Eu) ﬁ%@mwﬁ@%@m (Ca) HTE'T{T%
(A). T AP ©

(B). U & Hethe 3R Fra-e B Aga-2iaal

(C). %d NH; H Urqgafl ®f gar<iierdr

(D). Wed HC1 H STEHRINTg g @ Sga-T=iierdl

- feu e fowedl & 9 et SR T+:

1. %ad (A), (B) 3R (D)
2.9ad (A). (B) 3R (C)
3. (A). (B). (C) 3R (D)

4.%dd (B). (C) AR (D)

Options :

68019126181. 1
68019126182. 2
68019126183. 3

68019126184. 4

Question Number : 72 Question Id : 6801916673 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The Lanthanide contraction from Ce to Lu 1s

1.020A
2. 0.10 A
3.030A
4.025A

Options:

68019126185. 1
68019126186. 2
68019126187.3

68019126188. 4

Question Number : 72 Question Id : 6801916673 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0



Correct Marks : 4 Wrong Marks : 1
Ce ¥ Lu 0% Q1SS 4$91 &

1.020A
2. 0.10A
030 A
1.025A

Options :

Tad

68019126185. 1
68019126186. 2
68019126187. 3

68019126188. 4

Question Number : 73 Question Id : 6801916674 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Mg-ATP complex 1s a substrate for

1. Kinase

2. Catalase

3. Helicase

4. Hydrolyses

Options :

68019126189. 1
68019126190. 2
68019126191.3
68019126192. 4

Question Number : 73 Question Id : 6801916674 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



Mg-ATP I d 4 & U U fhareR §
1. P59
2. ey
3. 50D d

RS ESINIERE

Options :

68019126189. 1
68019126190. 2
68019126191.3
68019126192. 4

Question Number : 74 Question Id : 6801916675 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
What 1s the oxidation state of Pd in [Pd(OAC),]?

fad Jd —
faad b2 —

4.
Options :

68019126193. 1
68019126194. 2
68019126195. 3

68019126196. 4

Question Number : 74 Question Id : 6801916675 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



[PA(OAC),] H Pd &1 HIRITDHRUT G 1 62

| R =

L]
g b =

4,
Options :
68019126193. 1
68019126194. 2
68019126195. 3

68019126196. 4

Question Number : 75 Question Id : 6801916676 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Cytochrome C 1s a/an

. Electron donor

. Electron acceptor
3. Neutral

4, Negatively charged

I =

Options :

68019126197. 1
68019126198. 2
68019126199. 3
68019126200. 4

Question Number : 75 Question Id : 6801916676 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



ISP W TP §

1. 3G &I
2. SO UTel
3. 3R

4, BUMARd

Options :

68019126197. 1
68019126198. 2
68019126199. 3

68019126200. 4



